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3 parameter fit: Mag—Mag(inst) = 24.57£0.21 + (~0.124£0.14) cirmass + (—0.03£0.13) color
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2 parameter fit: Mag—Mag(Inst) = 24.51+0.08 + (—0.07+0.00) airmass + (—0.03+0.00) color
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1 parameter fit: Mag—Mag(inst) = 24.49+0.03 + (—0.07+0.00) airmass + (0.00+0.00) color
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3 parameter fit: Mag—Mag(lnst) = 24.57£0.21 + (—0.1240.14) airmass + (—0.03£0.13) color
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2 parameter fit: Mag—Mag(lnst) = 24.51+0.08 + (—0.07+0.00) airmass + (—0.03+0.00) color
%
%
x
x o
% x
x
x
x
x
x
0.2 0.4 0.6 0.8 1 1.2 1.4 1.8
V=R
1 parameter fit: Mog—Mag(Inst) = 24.49+0.03 + (—0.07+0.00) airmass + (0.00+0.00) color
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